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= o yE
st fs 2 REZEHEDR
HE4Z H#EfE TR = 5A 8A 107 1A 125 25
- mK mK aK mk = RIK oK
= 2024/4/15 2024/673 2024/876 5024,/10/15 [ 2004/11711| 2024/127% 2025/273
- - 8:55 10:04 8:45 9:02 9:00 10:30 9:40 8:50
- - ) ] ] ] [ i i
= = 71.3 204 302 71.0 511 76 7.5
= = 182 201 290 230 186 127 71
1 cfu/mL 100 0 0 0 0 0 0 0 0
2 KEHSnEL - LHEH TR LrEH DRERH TrEH TEH Py das]
3 me/L 0,003 0.0003 <0.0003 = = $0.0003 = =
4 me/L 0.0005 0.00005 <0,00005 = = = = = = = =
5 me/L 0.0 0.00 <0,001 = = 0,00 = <0.00 = = = =
5 me/L 0.0 0.00 0,001 = = <0.00 = <0.00 = = = =
7 me/L 0.0 0.00 <0.001 = = <0.00 = <0.00 = = = =
g me/L 0.0 0 <0002 = = <0.00 = <0.00 = = = -
me/L 0,04 0.004 <0004 <0004 0,004 0,004 <0004 0,004 <0004 0,004 <0004 <0:004
me/L 0.01 0,001 <0.001 = - = - 0,001 = = -
me/L i 0.2 0.72 0.58 0.69 0.50 0.46 0.60 0.8 0.70 0.73 0.70
me/L 0.8 0.08 0.08 <0.08 <008 <008 <0.08 0,08 £0.08 £0.08 <0.08 <008
me/L 1.0 0.1 <01 - - <0.1 - <01 - - -
me/L 0.002 0.0002 <0.0002 = = = = $0,0002 z = = =
1577 4—‘/2“##;; me/L 0.05 0,005 <0005 = = = = <0,005 z = =
vA—=1,2—v780TFL2
16 | 2 78S 2 —1 2 SAOAT meg/L 0.04 0.004 <0.004 ! <0.004
IADZI=1=¥L D) L 0.0 0.007 0,00 = = 0,007 = = <0.00 z = = =
8T 5700 F LY L 0.0 0 <0.00 = = <0.00 = = <0.00 z = = =
SRUFEAEFLY C 00 ; 00 E E 00 : - 000 - - - E E
5 L 0,6 0,06 0.09 0.08 0.08 0.19 0.20 0.10 0,11 £0.08 0,06 £0.08 <008
prys]a]i: L 0.02 0,007 = - 0,002 = = 0,002 = - <0,002 - -
VERDIs[=E WA L. 0.06 0.011 = = 0.01 = = 0,009 z = 0.004 = =
S HOOREER L 0,03 0,007 = = 0.003 = = <0,003 z = <0,003 = =
S OEOHAEY L 0.1 0,001 = = 0.002 = = 0,003 z = 0.004 = =
L 0,01 0,001 = = 0,001 = = 0,001 z = <0001 = =
L 0.1 0,017 = = 0.028 = = 0.019 z = 0.015 = =
i3 L 003 0,007 = = 0.009 = = 0.004 z = <0,003 = =
20E0500045Y L 0.03 0,005 = = 0.007 = = 0,007 z = 0.006 = =
JOERILL L 0.0 0,001 = = 0.001 = = 0001 z = <0001 = =
LT IVTER L. 0.0 <0008 = = <0,008 = = 0,008 z = <0,008 = =
VZQIEEY L 1.0 0,01 = = <001 <0.0i = 0,01 z = <001 = =
SO LROZDIEEY L 0.2 0.01 = = 0.02 0.03 = 0.03 z = 0.01 = =
PR L 0.3 <003 = = <003 <003 = £0.03 z = <003 = =
ZDIEE L 1.0 £0.01 = = <001 <001 = <001 z = <001 = =
ZDIEEN L 200 6.4 . . 6.1 9.2 . 78 = = 10.8 = =
ZDIEEM L 0.05 0,001 = = <0001 £0.001 = £0.001 = = <0,001 = =
V] o L 200 11 i0 8 7 10 ] 8 7 9 11 i2 i
IR REEE) L 300 37 = = 40 51 = 43 = = 53 = =
L 500 5 = = 79 101 = 83 z = 102 = =
. £0.02 = = = = = = = = = = =
0 < i < Pl < 7 < <i < < < i
< <i <1 <1 < <1 < <1 <1 < 1 7
0,005 0,005 = = <0005 = = 0,005 = = <0.005 = =
0.0005 <0,0005 = = = = = - = = = = =
0.3 0.8 0.5 0.5 0.5 0.6 0.5 0.5 0.4 0.4 0.4
0.1 730 724 7,32 722 AL 703 707 739 7.3 "7.94
- 2ehl 2ol Hehl 2ol 2eigl, 2ol 2ROl 2Rl 2ROl 2=l
- 2EIL 2EEL 2EaL 2ERL 2ROl 2EEL 2EGL 2ErL 2ERL 2Erl
0.5 <05 <05 <05 <05 <05 <05 <05 <05 <05 <05
0.1 <0.1 <01 <0.1 <0.1 <0.1 <0.1 <0.1 0.1 <0.1 <01
0.01 0.58 030 022 042 0.58 066 0.56 076 056 082
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#{E = BREEEHERE
HE% HEME TRiE Iz 58 65 75 85 oA 108 117 125 ;] 253 37
- SR AL SR A L] S G AL pEN] A e BRI
- 2024/4/15.1.2024/5/13_|..2024/6/3 2024/7/1 2024/8/6.1.2024/9/11.].2024/10/8.].2024/11/11.]..2024/12/2 |..2025/1/1 2025/2/3 2025/3/3
- - 10:15 9:35 9:34 9:54 9:50 9:30 10;00 9:25 9:50 9:50 9:50 9:55
= = ] 5] 5] 5 ] o - 1 -
= = 22.2 16.2 24.4 31.1 245 18.8 9.2 9.4 A
- - 21.0 21.0 25.1 33.3 28.0 19.6 144 9.2 .
1 cfu/mL 100 1] 0 [1] 0 1] 0 0 0 0 [0]
2 BRESNLENC - T TrEt TEH TRt N TRt TEH T TR
3 me/L 0.003 0.0003 <0.0003 = = <0.0003 - = =
4 mg/L 0.0005 0.00005 <0.00005 = = = = - = - - = =
5 me/L 0.0 0.00 <0.00 = = £0.00 <0.00 - <0.00 - - = =
6 me/L 0.0 0.00 <0.00 = = £0.00 <0.00 - <0.00 - - = =
7 me/L 0.0 0.00 <0.00 = = £0.00 <0.00 - <0.00 - - = =
.8 me/L 0.0 0 <0.00 = = £0.007 <0.00 = <0.00 - b = =
mg/L 0.04 0.004 <0.004 <0.004 <0.004 £0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004.
mg/L 0.01 0.001 <0.001 = = £0.001 = - <0.001 - b = =
mg/L 1 0.2 1.20 1.09 117 1.33 1.45 1.45 111 1,50 142 1.14 0.97
mg/L 0.8 0.08 <0.08 <0.08 <0.08 <0.08 <0.08 £0.08 <0.08 <0.08 <0.08 <0.08 <0.08
mg/L 1.0 0.1 <0.1 = = <0.1 <0.1 - <0.1 - - = =
mg/L 0.002 0.0002 <0.0002 = = <0.0002 = - <0.0002 - - = =
517 4—)7}'4’—"1"; me/L 0.05 0.005 <0.005 = = £0.005 = - <0.005 - - -
VvA—1,2—v700TFL2
16 BULSYZ—1. 2—SAHOAT mg/L 0.04 0.004 <0.004 <0.004 <0.004 .
1712700448, L 0.0 0.002 <0.00 = = £0.007 = - <0.00 - - <0. = =
I8 |7h2700TFLy L 0.0 0 <0.00 = = £0.00 = - <0.00 - - < = =
19k)700ITFLY L. 0.0 0 <0.00 = = £0.00 = - <0.00 - - <0. = =
L 0.0 0 <0.00 = = £0.00 = = <0.00 - - <0 = =
3 L 0.6 0.06 <0.06 <0.06 0.07 0.10 0.09 0.10 <0.06 <0.06 0.06 <0.06 <0.06
22 190 i L 0.02 0.002 - = £0.002 = - <0.002 - - <0.002 =
23 17007k L L L 0.06 0.00 - = 0.008 = - 0.008 - - <0.001 =
VLYY In]=]:3i L 0,03 = = £0.003 = - <0.003 - - <0.003 =
IPIEDI=I=E LD, C 0.1 0.002 - - 0.002 - - 0.003 - - 0.001 -
L 0.01 0.001 = = 0.001 = - <0.001 - - <0.001 =
L 0.1 0.011 - - 0.015 = - 0017 - - 0.004 =
BE L 0.03 <0.003 = = 0.003 = - <0.003 - - <0.003 =
2OED/O0ARY, L 0.03 0.004 = = 0,00 = - 0.006 - - 0.002 =
2O0FERILL L 0.0 <0.001 = = 0.001 = - <0.001 - - <0.001 =
L7 ILTER L 0.0 <0.008 = = £0.008 = - <0.008 - - <0.008 =
[iS 0L (A=E7] L 1.0 0.01 = = <0.01 <0.01 - 0.01 - - <0.0 =
S LROEDIEED L 0.2 0.01 - - 0.02 0.02 - 0.02 - - <0.0 =
ZDIEE L 0.3 <0.03 = = <0.03 <0.03 - <0.03 - - <0.03 =
ZDIEE L 1.0 <0.01 = = <0.01 <0.01 - <0.01 - - <0.01 =
ZDILEY L 200 5.5 - - 5.6 6.1 - 5.5 - - 6.0 -
ZDIEED L 0.05 <0.001 - - £0.001 <0.001 - <0.001 - - <0.001 =
] N L 200 5 5 5 5 5 5 5 5 5 5 5
ECEYE T L 300 4] = - 53 54 = 49 - - 51 -
L 500 81 - - 96 05 = 9 - - 89 =
. <0.02 - - = = - - - - - -
0 < <1 <1 < <1 <1 < <1 <1 < <1
< <1 <1 < <1 <1 < <1 <1 < <1
0.005 <0.005 = = <0.005 = - <0.005 - - <0.005 =
0.0005 <0.0005 - - = = - - - - - -
0.3 0.4 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3
0.1 76 781 776 763 7,68 7,93 785 763 748 765 769
- 2ROl H2ERL 2ROl H2Erl 22l 2Rl EErl EEEL L EEhl EBLL
= EBLL Egal EBLL Egnl EBLL EgnlL EZBuL Egnl EZBaL Egnl EBLL
0.5 <0.5 <0.5 <05 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
001 058 064 040 056 048 0.30 040 042 068 0.80 082




bk IEiG kiR

= o yE
# il = REZEHEDL
HE% HEME TRiE Iz 58 65 77 87 9 108 117 125 ;] 253 37
- iz T iz T iz T iz T iz T iz
= 2024/4715 | 9024/5/13 | 5024/673 | 20247771 | 2024/8/6. | 2004/9/17 | 2024/10/8 | 2024/11/11| 2094/12/5 | 5025/1/7 | 2025/5/3 | 5025/3/3
= = 9:35 9:.05 9:00 9:10 9:15 9:00 9:20 8:50 9:15 9:.05 9:20 9:15
- = = 55l i i) = = 1 i =
= = 19.2 6.9 1.1 580 920 16.4 94 3 7.8
= = 16.9 18.8 216 589 240 16.2 1.6 8.3 6.8
T ofu/mL 100 0 0 0 0 0 0 0 0 0 0 0
2 BRESNENS — ArEH T TEEH TrEt AEEH T T T FEH T,
3 me/L 0,003 0.0003 <0.0003 = = = $0.0003 = = <0.0003 = =
4 me/L 0.0005 0.00005 <0,00005 = = = - = - < = = = =
5 me/L 0.0 0.00 <0.00 = = <0.00 0,00 = £06.00 z = <0.00 = =
5 me/L 0.0 0.00 <0.00 = = <0.00 <0.00 = <0.00 z = <0.00 = =
7 me/L 0.0 0.00 <0.00 = = <0.00 <0.00 = <0.00 z = <000 = =
g me/L 0.0 0 <0.00 = = <0.007 <0.00 = <0.00 = = <000 = -
me/L 0,04 0.004 0,004 <0004 0,004 <0.004 0,004 <0004 0,004 <0004 0,004 <0.004 <0004 <0:004
me/L 0.01 0,001 <0.001 = - <0001 = = 0,001 = = <0.00 = -
me/L i 0.2 2571 2.58 568 2,57 554 761 2.32 3.56 3.02 2.57 562 7.45
me/L 0.8 0.08 0.08 0.08 0.08 0,09 0.09 0.09 0.09 0.09 0.09 0.08 0.08 <0.08
me/L 1.0 0.1 <0.1 = - <0.1 <0.1 - <0.1 = = X = -
me/L 0.002 0.0002 <0.0002 = = £0.0002 = = $0,0002 z = = =
1577 4—‘/2“:\’—41-;; me/L 0.05 0,005 <0005 = = <0.005 = = <0,005 z = = =
vA—=1,2—v780TFL2
168|570 =42 1 o ohnaT meg/L 0.04 0.004 <0.004 <0.004 <0.004
IADZI=1=¥L D) L 0.0 0.007 0,00 = = 0,007 = = 06,00 z = = =
18 TRZ700TF LY L 0.0 0 <0.00 = = <0.00 = = <0.00 z = = =
RiRganrFLs C 09 ; 000 E E o : - 000 E E - E
5 L 0,6 0.27 0.24 0.94 0.23 0.19 0.32 0.30 0.33 0.33 0.27 0.29
prys]a]i: L 0.02 £0,002 = = <0,002 = - £0,002 = = = =
VERDIs[=E WA L 0.06 0,004 = = 0,005 = = 0,004 z = X = =
LY DD s u] (37 ] L 0,03 0,003 = = <0,003 = = 0,003 z = 0 = =
S OEOHAEY L 0.1 0,003 = = 0,004 = = 0.007 z = 0.003 = =
L 0,01 0.001 = = <0001 = = 0.001 z = 0.001 = =
L 0.1 0,012 = = 0015 = = 0,020 z = 0.010 = =
i3 L 003 0,003 = = <0,003 = = 0,003 z = 0,003 = =
J0ESHOOARY L 0.03 0,004 = = 0,005 = = 0,007 z = 0.003 = =
JOERILL L 0.0 <0001 = = <0001 = = 0,002 z = <0001 = =
LT IVTER L 0.0 <0008 = = <0,008 = = <0,008 z = <0,008 = =
VZQIEEY L 1.0 0.0 = = <00 <001 = 0.0 z = <00 = =
SO LROZDIEEY L 0.2 0.0 = = <00 <001 = 0.0 z = <00 = =
PR L 0.3 <003 = = <0.03 <0.03 = £0.03 z = <003 = =
ZDIEE L 1.0 £0.01 = = <001 <001 = <001 z = <001 = =
ZDEEY L 200 6.6 . . 6.9 6.9 . 71 = = 7.0 - -
ZDIEEN L 0.05 £0.001 = = <0001 £0.001 = £0.001 = = <0001 = =
V] o L 200 8 8 8 7 8 8 8 8 8 9 i0
IR REEE) L 300 12 = = 69 68 = 74 = = 74 = =
L 500 i19 = = 103 128 = 01 z = 129 = =
. £0.02 = = = = = = = = = = =
0 < <i < < < <i < <i < < < <i
< <1 <1 < < <1 < <1 <1 < <1 <1
0,005 0,005 = = <0005 = = 0,005 = = <0.005 = =
0.0005 <0,0005 = = = = = - = = - = =
0.3 0.5 03 <03 03 0.4 0.3 <03 0.3 <03 03 <03 03
0.1 751 .45 7.39 "7.34 Wy 7,52 746 7.33 .35 .56 766 7,56
- A 2ol 2Eehl 2ol 22l 2Rl EErl EEEL 2ROl 2Rl 2ROl 2=l
- EIEL 2EEL 2EGL 2Erl 2EaL 2ERL 2ROl 2EEL 2EGL 2ErL 2ERL 2Erl
0.5 <05 <05 <05 <05 <05 <05 <05 <05 <05 <05 <05 <05
0.1 <01 <0.1 <0.1 <0.1 0.1 <0.1 <01 <0.1 <0.1 <0.1 <01 <0.1
0.01 0.64 042 042 048 034 042 0.56 064 0.80 097 0.84 084




